SHM7F9A18 FEABRUHAEH <K7TANBEEAH 7A24HHA £7>

NI BB EE 0% | 1Bl 28% | 3% | 4% | 5% i

. % | 0 0 0 5 3 0 8

BA | 2 8 2 0 0 0 12

R 2% | 0 0 0 4 2 3 9

FH 5 B2 |3 0 0 0 0 0 3

- 2% | 0 0 0 8 5 0 13

HITIED BmA | 2 i 0 T 0 [ 0 [ 0 3

o 2% | 0 0 0 0 2 5 7

A | i 0 i 0 0 3

2% | 0 0 0 0

i B | 2 4 0 6

2% 0 0 2 5 2 11

IR B 0 T 0 [ 0 [ 0 [ 0 [0

0 E% | 0 0 0 0 0 0 0

TEE @A | 11 9 3 0 i 0 [ 24

0 =1 0 0 7 2 i 12

+iEE FA 7 1 0O 1 0 [ 0 8

. E% | 0 0 0 i i 2 4

i @A | 8 5 3 0 1 0 17

- 2% | 0 0 0 | 27 | 22 | 15 | 64

A B2 | 29 | 35 | 9 i 2 0 [ 76

[ AREEE BE 5 | 05 [ 15 [ 25 [ 35 | 45 | 55 | =

—— Z% | 0 0 0 0 1 2 3

SRES EP 8 8 2 0 1 0 19

EE— 52 | 0 0 i i

= FEERRT A | 2 10 0 12

HECCLE =1 0 0 0 0 0 0

SELEYSELE [ @R 4 0 i 0 0 5

_ -~ | 2% [ 0 0 0 0 3 0 3

ERFEAR T T3 [ 8 1 1 0 [ 78

e BE 0 i 3 5 3 12

=REHE EA 3 0 0 0 0 3

o —rmme | BE | 0 0 0 0 0 0 0

~FVEERRE s 2 4 2 i 0 43

FRUODFH BE 0 0 0 0 2 0 2

=R A | 6 2 0 0 0 9

o — s E2 | 0 0 0 0 0 0 0

A T T 5 3 2 0 0 14

EIRINOF BE 0 0 1 0 0 1

- EA 0 0 0 0 0 0

st Z% | 0 0 2 4 11 5 | 22

A A | 54 | 51 | 19 | 6 3 0 | 133
@uhiEs

MNEERERS Be/En | 0% | 15 | 25 | 3% | 4z | 5 |

vhurgEE (210 0 1 O o

OARDHARI, F1FENCEIRFLEDETESLI-LDTY,
Bl A RRBEOZRIVFABABI00ADGE . PRABTEZFE1HFE
MOFEAFLEDOVT ML TVDADABELGYET,

OARIITAAERELTNEFEOHAERDESRITRYET,

QOLANDREANHIZ, ZHEAMKRKB DISEFITREYET, 1-1ZL. EE
BOERICKY. RBEEENLELIEENHYET . EEOEEICEDLL
THERDBRICIITEELLLZSW FERICOVLTIE, ZTHMREA
EFTIZCTREW =W E=RETEEZELET .,

OXEMRBEMEDFRICOVT. FRENTTVSISAFIMTHES
g_lé_\?ﬁil,\i%ﬁs tDISRAEHDFEENCNEEZRET HEHENHY

[{% NELOBTESNTWND2RIRISAETOHOE 22UV T] \
2ERIOSATRIINRELSICIE. 7THE1BFETICHEET SN EHLE
BYET,
-8H1BARLEIZT. 2BRISATAENRE-T-15EH. AEEAM (&
$H8E3H31HETTT . SHBEA4ALIKRILEBTREAFRERETH54.
WOTHHSEEDAFTHELAADNNETY,

/37 - FAST - A FAEHE
i BB E' 0F | 1% | 25 | 3% | 45 | 5% | =
T BE 0 0 0 2 3 4 9
= H3A 0 7 2 0 0 0 9
FE_INE TS 0 2 0 0 4 1 7
FrAMF 4 H3A 2 0 0 0 0 0 2
b IOES TS 0 0 0 0 0 2 2
FHOR H3A 8 4 4 3 2 0 21
25 0 0 0 0 0 0 0
Hh mx [ 8 | 0 [ 0 [ 0 [ 0 [ 0 8
FHT=h EE 0 0 0 3 0 0 3
INEDE H3A 2 6 2 0 0 0 10
FHT=h EE 0 0 0 0 0 2 2
H{LAIEFE H3A 15 5 0 1 0 0 21
R £33 0 0 0 0 0 1 1
FLODFH TS 0 0 0 0 2 0 2
REBE=EH H3A 2 0 1 0 0 0 3
F_ED=E 3 0 0 0 1 1 3 5
FHOR H3A 5 3 1 0 0 0 9
ICCOARER T3 0 0 0 0 2 1 3
SETEE H3A 2 4 0 0 0 0 6
. odtmE 3 0 0 1 0 0 0 1
i mA [ 7 | 15 | 0 1 0 | 0 [ 73
HOPPA EE 0 0 0 5 0 6 11
=HhDF H3A 5 6 0 0 0 0 11
RESXF—+1)— 25 0 0 0 0 0 0 0
AY— L H3A 7 1 0 0 1 0 9
FLODH T3 0 0 0 0 1 1 2
ZELYD B | 21 17 0 0 0 0 38
ICCOARER TS 0 0 0 3 5 4 12
=R H3A 2 0 0 0 0 0 2
ICCOARER TS 0 0 0 2 3 1 6
=RERRL H3A 5 8 2 0 0 0 15
- 3 2 0 0 1 3 3 9
FALORNF A | 2 | 4 2 1T 0 1 0 [ o 8
o, _ e 0 0 0 0 0 0 0
=RELAC B | 22 21 7 1 2 0 53
FO—NILEVX | 5& 0 0 0 1 6 0 7
=fEE H3A 1 13 1 0 0 0 15
— BE 0 0 0 0 0 0 0
ERELA2OKX 3 T 7 T 70 [ 2 [ 0 1 0 [ 20
ToXh—Fo £ 0 0 0 0 9 3 12
=fELEE H3A 4 5 0 0 0 0 9
GakkenlZLW X A BE 1 0 1 1 1 0 4
=f HA 4 3 0 0 0 0 7
R 3 0 0 0 0 0 1 1
A R B N I 1 1 0 [ 0 [ 2
— = £ 0 0 0 1 0 5 6
=R NZR mA [ 8 | 0 [ 0 [ 0 [ 0 [0 8
)= R BE 0 0 0 0 0 0 0
e B N 3 4 i i 0 [ 15
HOPPAJLEF =5 0 0 0 0 0 1 1
(FoEDE H3A 3 3 4 0 0 0 10
RESXF—H1)— 3 0 0 0 0 0 0 0
RI—LERETFEE BA | 11 10 2 2 3 1 29
o £ 0 0 0 0 1 2 3
HIICED mA | 3 3 5 T 0 | 0 [ 0 [ i
SALVREE BE 0 0 0 1 0 0 1
=EhE PN 9 1 0 0 0 0 10
"y =& 3 2 0 5
EEChD n ; 0 0 1
RAGREBE 55 0 3 1 4 4 12
= FEERAT A 5 0 0 0 0 5
- BE 0 1 2 4 4 11
7ALREE FN 5 0 0 0 0 5
=t BE 6 4 6 24 49 49 | 138
: BA | 186 | 175 | 41 10 10 1 423
REMGREESR Ba/48 | 0 | 15 | 28 | 3 | 48 | 58 | &
NEF 3 0 1 2 3
RERBE X1 H3A 0 0 0 0
-3 BE 0 0 0 0
RERBE X2 H3A 0 0 0 0
CHNURENEEE | BE 0 0 1 1
HIHT H3A 0 0 0 0
REMGRA = 3 0 0 0 0
WFAREE H3A 0 0 0 0
CHNURENEEE | B8 0 0 0 0
ATH H3A 0 0 0 0
=t £ 0 1 3 2
8 H3A 0 0 0 0

X1 MNEFRERBZIISNOFEIAXREFARFETT .

X2 HEREGREEFSHSEIAXRFEFETY .

FECELE /ER o | 1 | 2% | 3 | 4% | 5% | &t

FECELE ¥ BEAMTIERTRMLENERSE
ZEEHHE PN WISEYURERZEBLET,
ZESHHEBOSZEEICOVWTIE. BIZERELESHhELESLY,
(DAL -FAIL - A FAEHER ) ]
@IMEAE - REEMY WBeet| o | 1% | 2% | 3% | 4% | 5% | AFt
(E—HEEXE)
2% 6 5 11 55 82 69| 228
i
BIA 271 261 69 17 15 1] 634

G J




